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There are four sections,

section A: 10 questions of 1 Mark eac)
.

Section B: 10 questions of 2 Mark each

Section C: 10 questions of 3 Mark each

Section D: 4 questions of 5 Ma each

SECTION-A (1x10)
Complete the Following -
of the body-

A Combination of bones and cartj
ilages forms the__—— e called .

Changes in our surroundings that make ys responds to them 2
Motion of wheel of a bicycle is _

A piece of red hot iron is a —___ object.

A device that is used to break or complete an electric circuit isc
Similar poles of a magnet always each other.

No. rainfall for a year or more may lead to __in thatregion.
The component of air used by green plants to make their food is
animal use dissolved air in water for respiration.

is an area where the garbage collected from a city is dumped.

alled

SECTION -B
Answer the following in short - (2x10)

What is a ball and socket Joint?

Write two properties of magnets.

When does a drought occur?

Why does a lump of cotton wool shrink in water?

Explain, why speed is important for survival, in the grasslands for animals that live there
Explain, the term vermicomposting. '
If you and your friends are given the choice of eating in :

ata party, i’v o wouldgyou orefer and why? g1naplastic plate or a banana leaf platter
Give the different between a conductor and an insulator. Give examp]

Classify the objects as opaque, transparent, translucen, pe.

(@)  Asheet of plane glass

(b)  Asheet of cardboard

(c)  Asheet of butter paper

(d)  Asheet of cellophane



10.

I

Ay

10.

A (ing needle, the read;

'Ng of the

i
L of @ kn ngth
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o in d¢ -
Jlowinb arious types of joi
Answer the fo fv -
S Write the namesm ) Jesert? ts,
What are joints: " | |
-« cqctus @ apted S5 pber gloves while repairip
HoWisies on ctricial use! & an electric switch at your home

Why should an ele
Explain?

A bar ma

its north pole Jocated? .
Write the similarities a1 di

been switched on.

Give th

State for each of the followin

(@)
(b)
(c)
(d)
(e)
(0

What is the composition of air?

Answer the following questiong

Draw a well labeled dij,
Draw different shapes
List five activitieg

: that -
Draw a simple circyjt diagra $sible due tg the presence of air.

5 ost in.stteadIOf chemicg] fertilizers .Why?
T S po ) '
¢ to indicate 1t POES ‘How would you find out near which end is

gnet has 10 mark! ‘
eent - _ !
ences DETV he motion of a bicycle and a ceiling fan that has q

e difference petween a shadow anq an image of an object,
gwhether It 15 due to evaporation or condensation.

the outer surface of a glass containing cold water.

lothes while they are ironed.

winter morning

Water drops appear on
Steam rising from wet ¢
Fog appearing on the cold
Black board dries up after wiping.
Dew drops on leaves of grass in winter mornings. ;

Steam rising from a hot girdle when water is sprinkled on t.

SECTION - D
!

ra
513 to show the water cycle in our atmosphere.

Ofthe m
agn
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" showing the glowing of the bulb.
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Computer scienc®
Class — VI MM:

80

Time: - 2% Hours \—_/

Q1. Give oné word for

The shape outline option appears in the gro '
A feature of Ms Word that allows yqy o inlel)__T_’__,- hapes from @ palette/
smallest unit of a worksheet formed by:the :er: Pl'ede'5|gned Srow - 4o column/
A program that works with numbers, tay; fo?r:rsl.ectnon of‘f’:'nS and charts/
The address or location of a document °n’the i utae, fuii:—tif/'
The first page of the website of any °Tganisatior:1 2rrr]i‘:1tiividual .

lled /

Q2.

The index of keywords is continually added by special program ¢2
A program for transferring messages from one computer to anothe’ —

Give the full form of ISP
" The number of the last row in Excel is

© PNV A WNR

10
Give the shortcut keys for the following: -

Move one windowscreenup ____
Move to column A in the given row .
To save any document

To cancel an entry in excel

To print a Document

VA WwN R

. Answer the following Questions:
arent from the Cc

When would you use the Bcc option while sending an email? How is it diff
What do you type in the subject box?

Give any two advantages of the internet.

What are the two types of modems?
Name any two popular search engines?
How will rename a worksheet named Sheetl to EmpDetail?

How will you enter multiple lines in a single cell?
What is the address of the cell at the intersection of the 10" row and 7" column?

LN WwN R

. What is word art?
10. How many types of data can be entered in a Ms Excel worksheet, name them?

QA4.Explain briefly:
m a file.

Write the steps to insert a picturé fro
s a virtual space?

What is a website? Why is it known a
Write a short note on search engine-

Write any three features of a basic email program-

Give advantages of e-mail over an ordinary post. Explain any two?

A wN R

4

(10 marks)

(5 marks)

(2X10=20)

.option?

(5X5=25)
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al. Answer the following in - Class — vI 2o Marks_
1. Ashoka gave up the pq: o :entEnce ™ 5 policy of conguest through wht?
2. Where did Ashoka s his Sonanuest through war and bega" to 'fOHOt‘;” spread Buddhism?
3. Who was the most pOWerfu; ahengy, &7 daughter sangham'tra
4. What was the title gjyep, t 012 rulers
5. What are the forceg which & i:dragupta 1 i
6. The Great Indian desert ;¢ |0Cateatie from within the earth called?
7. Name the source of riye, Gangy, N Which state?
8. USA, Brazil and Malays;i
9. What are the peOp|e\:Nl:oh::p\Z:‘;Ch form of government? i
10. Fishermen go through 3 difficylt ti:et: Cross thé river calle?d

uring which season

Q2. Give short answers :- 30 Marks
1. Why did Chhaggan come to the city?
2. Why do the farmers become landless?
3. Why are written constitution rigid?
4. What do the Indika and Arthashastra te|] us about the Mauryas?
5. What is a prashasti?
6. What is the standard meridian of india?
7. Write about the islands of India.
8. What is a constitution?List the different types of constitution.
9. Apart from farming what are the other sources of income in rural areas?
10. What are the cheras also known as? Write about Neduncheraladan.

Q3. Answer the following in detail :- 12 Marks
1. How can loan taken by a farmer lead him to losing his land?
2. Why was the kalinga war a turning point in the life of Ashoka?
3. Distinguish between erosion and deposition.

Q4.  Draw a well labelled diagram for the following:- 10 Marks
1. Formation of block mountain
2. Formation of a volcanic mountain.
On the map of India given mark and label the following :- 8 Marks
1. Indira point
2. New Delhi

3. Bay of Bengal

4. Chandigarh

5. Rajasthan

6. Chattisgarh §
7. Lakshadweep

8. Hyderabad
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1.
The question pa N orde
p per Consi r.

2. )

Section (A) - Reading Skills bl sections:
Section (B) - Writing Skill: (20 Marks)
Section (C) - Grammg;, 20 Marks)
Section (D) - Literatyre (20 Marks)

(20 Marks)

Section -A
20 MARKS
READING SKILLS ((6 Harkd) )

Read the following poem carefully:-
Loveliest of Trees

Loveliest, of trees, the cherry now

s hung with bloom along the bough,

And stands about the woodland ride

Wearing white for Eastertide.

Now of my three score years and ten,
Twenty will not come again,

And take from seventy springs a score,
It only leaves me fifty more.

And since to look at things in bloom
Fifty springs are little room, <)
About the woodlands I will go

To see the cherry hung with snow. 4 E. Housman

s diary which summarises the ideas in the poem. Fill in

Below you can see a page from the poet'
each blank wit word only |

o, i 1 sight. Its white flowers hang along the 2.
A full bloom cherry tree 15 most 1—————

It stands about 11 the 3. Jam 4.

yEar now. And if I livc;, for seventy years, 1 have years more to go. Thus I have only
fifty mo . h 1 s to see the cherry in 5. . 1 therefore want to spend as much

re chance . :
time as possible in the woodlands WHere I can see the 6. hung with snow.

(TMarks)

arefll“)"
Read the following Passage . 1 mportancelv alue of trees

e rovided people with foods, fibres, and medicines. Above all, they

es ha
IF °r thousands of years ﬁeﬂrst poats and the first wheel. Throughout history, people have used wood
ave provided people thebuildings and create Works of art. They have also used it for fuel. Living

to make tools, construct 4 as ar¢ tree products because they help conserve natural resources:

ankin
trees are aq valuable tO hum




N

Q.1

(b)

In open country, trees »

ter. . t as v: \ )
g8 ™" s prevent soil from ;. e Pk g th L o
& 00 ; . s 3 i
onset*’ 5;’ pe round_ [n mountain Tegiong, s ed away by .y rI;i € Wing frop .2 by ]
il. ; ildli ns, |
Trees hepcﬂ)’t P 501'11 he 8° ghelte” for wildlife 4,4 TeCreqg;, Tevent g; ing snoy Tree Tooy, wr
plowing 8% " wate!”! prO"i ¢ of the passage Answeg,. { " areag acatiop; o Causiné Q?
also help 5“; osts als? rcﬂdi"g lo“’ill Quest: t 1
avalanches: i< o d from living treeg 9 Stions 4 bl'l'eﬂy as.
pash e . i
On the ene™" . their uses. |
. ite . R¢
bl in dwrl | .
p(’sslb How has man )I.oducts an ; Q'l a
@ o trec l 2
Give W i (
anks: i
11 in the bla? onve—— 5
o Fillint conse™ — ; F
@ reeshelp© qrees a0t 88 ——————— Q-
' opent country s ‘
2 In Jive shelte! 3’ (
3. ForestSt leptostoremom
s D idin Caus;j
4. Tree 100! prevent sliding Sing Valancheg, Q3
5. _./ §
fully:
. age care 1 7Ma
Q3  Read the given A gne of the most wasteful practices AMONg those whe i1 K that the( rks)
Over-eating 15 0 ¢t what they desire OVer-eat 1 . Y can afford
In fact, nearly all those who can g P 0 their dlsadvantage This class of
it. ac ey C .o .
1 ple could save a great deal MOT® food than they can save by TISSINg one long meg] per week and | Q-4
peo

at the same time do much t0 improve, t.heir he.alth. A 2y meal at night is the fashion with many
and often it is taken shortly, before retiring. It is largely a wagte and could be for gone, not only once

a week, but daily without loss of strength. Three to five hours gre needed to digest food. While %
sleeping, this food not being required to give energy for work, is in m |
excess fat, giving rise to over-weight and obesity. The evening meal sho :
three to four hours before retiring. This plan prevents over-
food cost, Millions of people followin
same time improve thej; health,

On th i ;
1 the basis of your ¢ading of the Passage, complete the following statements:
Over-cating is

i
|
}
!

any cases, converted into

uld be a light repast taken
eating, conserves energy, and reduces
g such a plan would save a great deal more food and at the !

i
| os
1

1.
2
j T'hc évcnlng Meal shoylg beahen
5
6.
7.

i
¢ fO”OWin \ of many PCOPIe' . A
g cating plan can improve thell ———— \

-

Write 5 short essg

D My any Wrting
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Q.4

Q5

Q.6

Q.7

..o an email to th SR
write ® K you, a
by post: Ung Whe 1. ¢ you 2 pirthday present
licati 0 llv § . Qhe has sen y
write a1 app 10n to the Py €S in Mumbai. S (6 Marks)
ey ction
alg change your Sectior
Your gehgol to allow you to (7Marks)
SQQ"
Rearrange the words ¢, magc G,.ammarlon -C
(1) do well/ because You j i sentenceq -0 marls) (2 Marks)
. o s ave/; ki
ill/Nita is wel . M the gy :
@ Vorother g, h: Wizfyou willjworked very 14
r‘ »
Fill in the blanks with a, o, o
r
(1) Oliver Twist wag the, (2 Marks)
. e li
() lvisited \Qm e boy, who lived in __orphandge:
Nar ang —__ Red Fort when] went to  Delhi.
Rewrite these sentences usin .
8 the pajyy of adverbs in the correct positions. (2 Marks)
(1)  The children enjoyed ¢
. ec hemselyes ot the beach (thoroughly today)
)  Weenjoyed the picnic, byt ¢ _
> PRt 1L was noisy. (a lot, very)
Fill in the blanks with the correct forms of the verbs given in the boxes. (3 Marks)
o 1 : my home work. Now can I go out and play? (do)
(2) Maria___. herlostbook. She is very happy. (find)
(3) Tlhavenever pancakes. I heard they are delicious.(eat)
Fill in the blanks to change the voice. (3 Marks)
(1)  Switch off your mobile phone.
Your mobile phone off.
(2 Do not pluck flowers.
Flowers
(3)  Proper queues should be maintained on the platform
on the platform.
R
. (4 Marks)
Fill in the blanks with suitable prepos:tl:i); Svslooden cupboard
Jothes '
b neenia ke;?t vee s mm in October.
) Monicawill g0 __— the house.
(3)  Itis getting hot. Let’s 8° " the trees?
(4) Canyouseed peacock ——
(4 Marks)
uns-
Form verbs from these
/
" e
0
O i o
) visitor e

4)  Writing



Section — D

Literature = (20 mal’ks)

Q.1 G
M
(ﬁ) Sﬁ]c

‘,Crdl'Ci
( 3) gﬂidy

, oer A

@ e ¢ questions.

and ?
Q.2 Readthe senfences

. eth SO y '
«Which sayet 9
! @ Who sayeth soft

4 9()
((;) What can be peard ‘here?

o doyou appent a5 panchy Juoman Sheikh? Leg gy
@) Whom do ¥ , ision” ettled once the penchaya)
spoken, you must abide by its decision™. .

()  Who said this? Who was finally appointed as Sarpanch, and by whom?

answer | in safety, H
ffere dwel ty, Here dwe] alone.....” “ Marks)

Q.3 Answer the following questions.

' S 8 Marks
(1) With what advice did David’s aunt send him off on hjs trip? ( :
(32) Why had the ravine become a little haven for wildlife?
((4)) \\:/’hy was Me.itﬂda unhappy despite being pretty and charming?
~ hat according fo Clovis was Wrong with Sturridge?
Q4 Answer the follow; :
_ 0Wing in
() Deserip Gandghxﬂ ot Words (4 Mg
o 0 ¥$ saw him
{ What iegg inflyey ’
ce ‘o i i
Dayig boyish mind to make him leave school without much regret

A
t
i

; g
qning |
ive the mea™ i Ma”‘!)y,

. Time-

i

P

9.2

b 93
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Subject. tics
Time: 2.30 1t Mathematics

Q.1

B e

Q.2

Q.3

Q.4

Q.5

Q.6
Q.7

Q.8
Q9

i,
2.
3.

General Instructions:.

All questions are CoOmpulsor
Graph Sheet js Provided fo, Q. No. 29

Answer the questions in serjq) order as far as possible.
Section-A [1x5 = 5 marks]
Choose the correct Option for:

9+(-6)

(a) 2 (b) -2 (03 (d)4

Fill in the missing fraction:

5
+> - 12
27 27
Decimal of seven-tenth is:

(a) 0.07 (b) 0.007 (c) 0.7 (d)7.0
The area of a square whose side is 8 cm:

(a) 32 sq.cm.
Give the correct expression of: 11 subtracted from 7 m

(a) 11-7m (b) 7m-11 (c);—; (d) 7Tm+11

Section-B [2x10 = 20 marks]
Find: (-32) - (-40)
Reduce the fraction into simplest form

150

60

What fraction of an hour is 40 minutes?

Write the following as decimal:

8
0 100

M.M.:SQ

(b) 48 sq.cm. (c) 56 sq.cm. (d) 64 sq.cm.



adivs class, wh
Je of I sina » Whatis the ...
Q.10 Drawaci® s and 16 b0 € ratio of Number of girls to the
I

re 2081
Q.11 Thered poys? is 4 meters [

rof hall is SSthan 34

numbe rangula” sadth is b meterso times the breagth of the hall

th
.12 Theleng
h What is the [N

imet
Q.13 Find the per ime greater than -1p,

regative i
O.Nm.ﬁo

:nmmm_‘m
Q.14 Write four! tm+~+w.ow
Q.15 Find the sum of

section-C [3x10 = 3¢ Marks)

d the following integers
Jine and ad
Q.16 Use number

(-1)+ (-2) +(-3)

Q.17 Find the sum:
(7)+(8)+17+18

ibbon is cut into two pj ; ) 1
Q18 A piece of ribbon ; meter long is cut Piece of ribbon, one piece was - Meter

long. How long is the other piece?
Q.19  The weight of 72 books is 9 kg. What is the weight of 48 sych books?

Q.20  Draw a circle with centre C and radius 3.4 cm. Draw any chord AB, Construct the
perpendicular bisector of AB and examine if it passes through c.

ogr .
Eraph one Symbo) 4/ represent 5 bulbs.
| 4

Q22 Fing the len
Bth of tpq chorg Needed ¢ wrap a wooden square frame of side 7 cm

twice,

Q23 pryy, an angle of 14¢ ang
| c
Q24 Ty Sides of 5 :_.msm_
®ar

What jg its thirg Sideo 11 ang

ONstruct i bisector?
15 cm. The perimeter of the triangle is 42 cm.




Q.25 Divide¥ 105 ;
In the ratio 32 Gmﬁémmz Aman and PN_Amﬂmj ?

Section-D [5x5 = 25]

£ 20 _uﬂm.<< an angle of 60" using 3 ruler and compasses and draw @ line of symmetry.
(write the steps of construction) p

Q.27 What is the cost of tiling a rectangular plot of land 500 meter long and 200 meter
wide at the rate of ¥ 9 per hundred sg. m.?

Q.28 Complete the table and by inspection find the solution t0 the equation 5s = 35?

I - _
Q.29 Following table shows the number of motor bike manufactured in a factory during

the year 2000 to 2004 (choose scale of your choice). Draw @ bar graph?

YEAR NO. OF MOTOR BIKES
MANUFACTURED
| 2000 | 800 —
2001 | 600 B
2002 | 900 |
2003 | 1100 ,
2004 | 1200 |

(A) In which year were the maximum number of motor bikes manufactured?

(B) In which year were the minimum number of motor bikes manufactured?

Q.30 Cost of 5 kg wheat is ¥ 30.50
(A) What will be the cost of 8 kg wheat?

(B) What quantity of wheat can be purchased in ¥ 61?



